=
<

o(d @) (rad)
a(d cot(d))

1072 -

=
T T
=%+
<
2
TTTT

-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQMstep3_TT_CKF
—— DQMstep3_TT_CKF-tok

= 1 = 1
= [: 1] :
5 - 3]

2 r: =

~ ~

2 3 o>

2 I o

o | o

3 ©

107}

H

S
L
7

.Qlol_%:lllll | | ||||i||||! ||||i| M .Qlol_%:llll! AR AARPARAR(INARARARA |||i| N
T 11 : i L T 11 ' : L H
S 1k | i S 1k : : :
1;_. ] [t .- ; 1;_. ‘ <+ - -4»5»1
0.9F : : : iR 0.9F : AL : .
E : : : : 9 E : a " : i
08 -2 -1 0 1 2 3 83— =2 -1 0 12 3

TP n (PCA- to beamline) TP n (PCA to beamline)

0P /P,

107

1072

o
Q0
L RARE RARRRER:

2 -1 0 1 2 3
TP n (PCA to beamline)

|
w



	Contents
	Page 1


